1. Alternate Exterior Angles Proof: Complete the proof by filling in the missing reasons

Given: line m || line k Prove: 22 = /8

Statements
1. line m || line k
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Given: m || nand a || b

Prove: 23 = «£13

Statements Justifications

m| nanda|b NV AN

mZ3+m/12 =180° L{T}'_"

mZ12+m/13 =180° SN+ R

M2 3 AMNLIZ =2 iy | FrensittvePropery—5 WL Y75V g
ML 3= ML\ | Subtraction Property i @
R =L\ Definition of Congruence

4. In the diagram for #3, m«8 = 10x + 10 and m£12 = 12x — 4, what is m£16?
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2. Given: Q_S|| TV Prove: mZPRQ +mZTUW =180°
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5. Given: ZSRU = ZRUT Prove: QS || TV
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6. Given: a| b Prove: £9and /14 are supplementary

15.REINFORCE Write an equation for each line described belo& =m X‘f'b

Statements Jugtifications . . _ B
alb C% o 12 g/:o ) a. Aline parallel to thr line y = 4x - 3 that passes Z?ough
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O_r Q S\A-?-? \5\/( ‘? b. A line perpendicular to the line y = %x+5 with y-intercept -2
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point (3, 13)

c. Aline parallel to the line 3x+4y +8 = 0 with y-iptercept 4 . .
X +9Y = _g“ = Practice Test:
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&: -3 X\ "’3 ® Grab a Chromebook and log in.

d. Aline perpendlcular to the line 2x - 5y 15 that passes through'Zhe.pmnt (10,1) [ ] GO tO Aglle Mlnd ’

‘2 +ro _
:ﬂ )2 e Click on "Cwk #14: Practice Test."
~\§_({D> '“9 e Complete & turn in a paper copy.

_54Y
_Jba



Hwk #23 - Practice Review Packet (Topic 6)



